Lesson 7.

8A.

Cohort life table

Current life table
Complete life table
Abridged life table
Clinical life table
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. longitudinal life table
generation life table

10
q

0-10 10 2 2/10=0.2
10-20 8 2 2/8=0.25
20-30 6 0 0
30-40 6 0 0
40-50 6 1 1/6 =0.17
50-60 5 0 0
60-70 5 2 2/5=0.4
70-80 3 1 1/3=0.33
80-90 2 1 1/2=05
90-100 1 1 1.0
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° p =
° p = q
q

0-10 2/10=0.2 0.8
10-20 2/8=0.25 0.75
20-30 0 1.0
30-40 0 1.0
40-50 1/6 =0.17 0.83
50-60 0 1.0
60-70 2/5=0.4 0.6
70-80 1/3=0.33 0.67
80-90 1/2=05 0.5
90-100 1.0 0
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0-10 10 2 8*10+1/12+3/12=80.33
10-20 8 2 6*10+2+6=68
20-30 6 0 6*10=60
30-40 6 0 6*10=60
40-50 6 1 5*10+5=55
50-60 5 0 5*10=50
60-70 5 2 3*10+1+5=36
70-80 3 1 2*%10+2=22
80-90 2 1 1*10+5=15

90-100 1 1 0*10+1=1
° X
X
X X+10
0-10 8*10+1/12+3/12=80.33 447.33

10-20 6*10+2+6=68 367.00

20-30 6*10=60 299.00

30-40 6*10=60 239.00

40-50 5*10+5=55 179.00

50-60 5*10=50 124.00

60-70 3*10+1+5=36 74.00

70-80 2*10+2=22 38.00

80-90 1*10+5=15 16.00
90-100 0*10+1=1 1.00
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447.33/10 = 44.7

X

X x+10
0-10 10 447.33 447
10-20 8 367.00 45.8
20-30 6 299.00 49.8
30-40 6 239.00 39.8
40-50 6 179.00 29.8
50-60 5 124.00 24.8
60-70 5 74.00 14.8
70-80 3 38.00 12.7
80-90 2 16.00 8.0
90-100 1 1.00 1.0
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447.33
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